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NEW QUESTION 1
What are two benefits of using the capacity pools licensing model for ONTAP Select? (Choose two.)

A. This model provides perpetual storage allocation to the nodes

B. This model provides more efficient use of storage capacity for each node

C. This model provides reduced administrative overhead resulting in lower cost
D. This model provides dedicated storage capacity to each individual node

Answer: BC

NEW QUESTION 2
What are two elements of the Azure NetApp Files hierarchy? (Choose two.)

A. encryption
B. volume

C. capacity
D. tier

Answer: BC

NEW QUESTION 3

You want to ensure that the data that is stored in your Azure NetApp Files and on-premises NetApp ONTAP volumes satisfy General Data Protection Regulation
(GDPR) engagements. You also want to ensure that the sensitive data Is stored In specific locations only.

In this scenario, which NetApp cloud data service accomplishes these tasks?

A. Cloud Compliance

B. Cloud Backup

C. SnapLock Compliance
D. Cloud Insights

Answer: C

NEW QUESTION 4
Which two statements are correct about a FlexVol volume? (Choose two.)

A. A FlexVol volume Is always read/write.

B. A FlexVol volume can be used for file or block data.

C. A FlexVol volume is the same as a LUN.

D. A FlexVol volume can share Its containing aggregate with other volumes.

Answer: AD

NEW QUESTION 5
Which attribute of a host is used to route packs to a non-local subnet?

A. VLAN trunk
B. default gateway
C. NTP server
D. DNS server

Answer: D

NEW QUESTION 6
Which two NetApp features encrypt the storage data? (Choose two.)

A. NetApp Volume Encryption (NVE)
B. NetApp Storage Encryption (NSE)
C. Trusted Platform Module (TPM)
D. Encrypted File System (EFS)

Answer: AB

Explanation:
https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-concepts%2FGUID-394BC638-D

NEW QUESTION 7
Which three benefits of using NetApp Cloud Volumes ONTAP for AWS? (Choose three.)

A. automatic tiering to Amazon S3 for cost reduction

B. automatic replication to Cloud Volumes Service with SnapMirror

C. ONTAP thin provisioning for space efficiency and over-provisioning

D. NetApp Aggregate Encryption (NAE)with Onboard Key Manager

E. ONTAP data reduction mechanisms with compression and deduplication
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Answer: ABE

NEW QUESTION 8
What are two reasons for using containers? (Choose two.)

A. to minimize resource overhead

B. to deploy microservices as building blocks to distributed applications
C. to deploy virtual machines to multiple different hardware platforms
D. to deploy independent system kernels to unified applications

Answer: AB

NEW QUESTION 9
Which two tools would you use to manage your NetApp SolidFire eSDS storage cluster? (Choose two.)

A. NetApp Active 1Q Unified Manager

B. NetApp Element Ul

C. NetApp Element Plug-in for VMware vCenter Server
D. NetApp Cloud Manager

Answer: AB

NEW QUESTION 10
What are three types of data access? (Choose three.)

A. cloud
B. object
C. RAID
D. block
E. file

Answer: BCE

NEW QUESTION 10
Which NetApp cloud product is specifically designed for stateful containerized applications?

A. Azure NetApp Files

B. Virtual Desktop Service
C. Cloud Volumes ONTAP
D. Astra

Answer: B

NEW QUESTION 12
Your employer asks you to develop an off-site data replication strategy that maintains NetApp ONTAP data efficiencies for the home directory data. Which solution
would satisfy this requirement?

A. Cloud Volumes Service
B. Azure NetApp Files

C. Global File Cache

D. Cloud Volumes ONTAP

Answer: A

NEW QUESTION 13
Which NetApp product would be used to manage multiple E-Series systems from a single pane of glass?

A. Cloud Manager

B. Active 1Q Unified Manager
C. SANtricity System Manager
D. SANtricity Unified Manager

Answer: A

NEW QUESTION 18

Cloud Manager would be used to manage which two NetApp storage resources? (Choose two.)
A. NetApp E-Serles

B. NetApp Cloud Volumes ONTAP

C. NetApp StorageGRID

D. NetApp All Flash FAS (AFF)

Answer: AD
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NEW QUESTION 22
What are two main benefits when configuring Advanced Disk Partitioning (ADP) on an AFF or FAS system? (Choose two.)

A. Increases deduplication efficiencies.
B. Reduces the RAID parity overhead.
C. Decreases disk failure rate.
D. Optimises storage capacity.

Answer: CD

NEW QUESTION 25
You are asked to create and manage working environments in NetApp Cloud Manager. In this scenario, which user role would enable you to perform this
assignment?

A. Cluster Admin

B. Compliance Viewer
C. Storage Admin

D. Account Admin

Answer: D

NEW QUESTION 28

Your company has a NetApp ONTAP solution deployed in a data center. The current solution has a large amount of stored inactive data. You are asked to tier this
data to the cloud, but you must keep the data efficiencies that you are using in the data center.

In this scenario, which NetApp technology enables you to accomplish this task?

A. FabricPool

B. StorageGRID

C. Cloud Volumes Service
D. Cloud Volumes ONTAP

Answer: C

NEW QUESTION 32
You are using Cloud Manager to manage your resources.
In this scenario, which two features require you to deploy a connector? (Choose two.)

A. Cloud Volumes Service
B. Azure NetApp Files

C. Cloud Backup

D. Cloud Volumes ONTAP

Answer: AC

NEW QUESTION 37
Which storage type provides access using Amazon S3 APIs?

A. object
B. NAS
C. inode
D. SAN

Answer: A

Explanation:
https://docs.aws.amazon.com/AmazonS3/latest/userguide/storage-class-intro.html

NEW QUESTION 41
Which statement is correct about Cloud Volumes ONTAP systems and ONTAP clusters, before you can replicate data between them?

A. The source volume has been taken offline.

B. The source and destination volumes are running compatible ONTAP versions.
C. The volume names on both the source and the destination are the same.

D. The destination volume has all of the storage efficiency settings disabled.

Answer: D

NEW QUESTION 45

You want complete visibility into your infrastructure to monitor, troubleshoot, and optimize all of your resources, including your public clouds and your private data
center.

Which NetApp SaaS product will satisfy these requirements?

A. Cloud Manager

B. Active 1Q Unified Manager
C. Cloud Insights

D. My Services In Cloud Central

Your Partner of IT Exam visit - https://www.exambible.com



We recommend you to try the PREMIUM NSO0-003 Dumps From Exambible

@ exam blb|@ https://www.exambible.com/NS0-003-exam/ (93 Q&AS)

Answer: A

NEW QUESTION 50
What are two benefits of providing object storage with NetApp StorageGRID appliances? (Choose two.)

A. enterprise-grade hardware

B. integration with VMware vSphere
C. simplicity of deployment

D. underlying heterogeneous storage

Answer: AB

NEW QUESTION 55
What are three supported deployment solutions for NetApp StorageGRID? (Choose three.)

A. virtual servers using VMware ESXI

B. virtual servers using Docker containers
C. virtual servers using Microsoft Hyper-V
D. StorageGRID hardware appliances

E. virtual servers using Amazon EC2

Answer: ADE

NEW QUESTION 57
Which cloud architecture model does Cloud Volumes Service have?

A. PaaS
B. DRaaS
C. SaaS
D. laaS

Answer: C

NEW QUESTION 59
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